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In [1]: import numpy as np
import matplotlib.pyplot as plt

In [2]: np.random. uniform(size=2)
Out[2]: array([0.9211931 , 0.00373358])

In [3]: np.random. uniform(size=2).mean ()

Out[3]: 0.7385101241553986
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In [4]: # Sample Mean MED & SIZHHT I ZEFHARNS
tn HUTILOERTEHZERYRLTHELT M DIEZIRET S

n= 6 t BEEMSEIYBTH U TILE
T= 10000 # BEAH DR
SM_list=[]

for i in range(T):
SM=np. random. uniform(size=n).mean ()
SM_list=SM_list +[SM]
SM_list=np.array(SM_list) # 7L AIZLTH L LEF

In [6]: # SM_list # F5ZAR<

In [6]: # SM_list %47 (1) EXFITS A
b=20 # x# [0,1] % b &5
F,x,_ =plt.hist(SM_list,
range= (0, 1), # IEEIETE
bins=b, i RSB EEE
color="red, # BEEE
alpha=0. 5, tBORS (0~1)
ec="k') i #EIZREDITHS (k=black)
plt. xticks(np.arange(0,1.1,0.1)) # xEAD B
plt. show()
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In [7]: # AREHERDD
RF=F/T
RF

Out[7]: array([0.000e+00, 1.000e-04, 3.000e-04, 2.800e-03, 1.220e-02, 2.910e-02,
6.320e-02, 9.130e-02, 1.372e-01, 1.701e-01, 1.576e-01, 1.328e-01,
1.049¢-01, 5.940e-02, 2.610e-02, 8.600e-03, 3.400e-03, 8.000e-04,
1.000e-04, 0.000e+00])

In [8]: # SM_list M%#F (2) HMREHOER LTS LA
# plt. figure(figsize=(6,4))
xx=np. arange (0, 1, 1/b)+1/ (2%b) i x B BHEE
plt. bar (xx, RF, width=1/b, color="red", alpha=0.5, ec="black’)
plt. xticks(np.arange (0, 1.1,0.1)) # x#ho HE%
plt. show()
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In [9]: # SM_list O##r (3) HEEBEHELTER N SL (ZEBEZE1I12T5)
# plt. figure(figsize=(6,4))
xx=np. arange (0, 1, 1/b)+1/ (2%b) #x B HEE
plt. bar (xx, RFxb, width=1/b, color="red", alpha=0.5, ec="black’)
plt. plot (xx, RFxb, color="blue")
plt. xticks (np.arange (0, 1.1,0.1))  # x#Eho HEH
plt. show()
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In [10]: from scipy import stats # #stS54 75" 2{EH
# — RO SERTHOFEHE = n (BFY), 28 = s"2/n (BHE/n)
t ZTOFEHEENBEFEDODERDMELEBT S
# U0 1) OFHEESEIEL m=0.5, s72=1/12
# EFE2% N, s"2/n)
m=0.5 it EHEOEE
s=1/np.sart (12xn) # ZEREZEDHRTE
X=stats.norm(m, s) # BEBEDIEE N s"2) E/RXTA—FDFENVANELS



In [11]:

In [12]:

Out[12]:

plt. figure(figsize=(6,4))

x=np. arange (0, 1, 0. 01) #x OHEFEDIE/E. R, Ka. ZHE
plt.plot(x, X. pdf (x), color="blue")

plt. xticks (np. arange(0,1.1,0.1)) # x&DBEEE

plt. show()
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fig = plt. figure(figsize=(12,4))

ax1=fig. add_subplot(1,2,1) # HWEITUT7% 1x2 [ZHEILTIEDOIUT

ax2=fig. add_subplot (1,2, 2, sharey=ax1) # HEIT!Y 7% 1x2 I2HELTC2EDT) T
ax1. bar (xx, RFxb, width=1/b, color="red", alpha=0.5, ec="black’)

ax2.plot (x, X. pdf (x), color="blue")

[<matplotlib. lines.Line2D at 0x2459de41580>]
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In [13]: # Fitting
# plt. figure(figsize=(6,4))
plt. bar (xx, RFxb, width=1/b, color="red", alpha=0.5, ec="black’)
plt.plot(x, X. pdf (x), color="blue")
plt. xticks(np.arange(0,1.1,0.1)) # xEAD B
plt. show()
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